



St. Louis County, Minnesota

Date of Report: 12/15/2025 12:33:22 PM

General Details

Parcel ID: 420-0010-03025 Document: Torrens - 870687.0 **Document Date:** 07/27/2008

Legal Description Details

Plat Name: LAVELL

> Section **Township** Range Lot **Block**

18 55 19

Description: SW1/4 OF SW1/4 OF SE1/4 EX ELY 264 FT

Taxpayer Details

Taxpayer Name WICK MICHAEL W and Address: 10591 OJA RD

MEADOWLANDS MN 55765

Owner Details

Owner Name WICK MICHAEL W

Payable 2025 Tax Summary

2025 - Net Tax \$1,473.00

2025 - Special Assessments \$85.00

\$1,558.00 2025 - Total Tax & Special Assessments

Current Tax Due (as of 12/14/2025)

Due May 15		Due October 15	Total Due		
2025 - 1st Half Tax	\$779.00	2025 - 2nd Half Tax	\$779.00	2025 - 1st Half Tax Due	\$0.00
2025 - 1st Half Tax Paid	\$779.00	2025 - 2nd Half Tax Paid	\$779.00	2025 - 2nd Half Tax Due	\$0.00
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00

Parcel Details

Property Address: 10591 OJA RD, MEADOWLANDS MN

School District: 2142 Tax Increment District:

Property/Homesteader: WICK, MICHAEL

Assessment Details (2025 Payable 2026)

Assessment Details (2023 Fayable 2020)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$32,500	\$226,400	\$258,900	\$0	\$0	-		
	Total:	\$32,500	\$226,400	\$258,900	\$0	\$0	2357		





St. Louis County, Minnesota

Date of Report: 12/15/2025 12:33:22 PM

Land Details

Deeded Acres: 6.00

Waterfront: EAST SWAN RIVER (11-56-20)

Water Front Feet:

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

		Improve	ement 1 D	etails (HOUSE	<u> </u>		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des	
HOUSE	1981	1,216 1,216		ECO Quality / 913 Ft ²	SL - SPLT LEVEL		
Segment	Story	Width	Length	Area	Foundation		
BAS	0	2	16	32	CANTILE	VER	
BAS	1	12	16	192	BASEMENT WITH EXTERIOR ENTRANCE		
BAS	1	24	40	960	BASEME	ENT	
CW	0	8	9	72	POST ON G	ROUND	
DK	0	12	12	144	POST ON G	ROUND	
SP	0	12	12	144	POST ON G	ROUND	
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC	
1.75 BATHS	3 BEDROOF	MS	-		0	CENTRAL, FUEL OIL	
		Impro	vement 2	Details (DG)			
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish Style Co		
GARAGE	1981	1,00	08	1,008	- DETAC		
Segment	Story	Width	Length	Area	Foundation		
BAS	1	28	36	1,008	FLOATING SLAB		
		Improveme	nt 3 Detai	ils (BACK HOU	JSE)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De	
	0	30	4	304	-	PLN - PLAIN SLA	
Segment	Story	Width	Length	Area	Foundation		
BAS	0	16	19	304	-		
		Improveme	ent 4 Deta	ils (10X20MET	AL)		
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De	
CAR PORT	0	20	0	200	-	-	
Segment	Story	Width	Length	Area	Foundation		
BAS	0	10	20	200	POST ON GROUND		
		Improveme	ent 5 Deta	ils (10X24MET	AL)		
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De	
CAR PORT	0	24	0	240	=	-	
Segment	Story	Width	Length	Area	Foundat	tion	
BAS	1	10	24	240	POST ON G	DOLIND	





St. Louis County, Minnesota

Date of Report: 12/15/2025 12:33:22 PM

		Improv	ement 6 Deta	ails (6X10)						
Improvement Type	Year Built	Main Flo	or Ft ² Gro	ss Area Ft ²	Basement Finish	Style C	ode & Desc.			
STORAGE BUILDING	0	60		60	-		-			
Segment	Story	Width	Length	Area	Foundation					
BAS	1	6	10	60	POST ON G	ROUND				
		Improveme	nt 7 Details (BOILER HSE)						
Improvement Type	Year Built	Main Flo	or Ft ² Gro	ss Area Ft ²	Basement Finish	Style C	ode & Desc.			
STORAGE BUILDING	0	192	2	192						
Segment	Story	Width	Length	Area	Founda	tion				
BAS	1	12	16	192	POST ON GROUND					
		Improvem	nent 8 Details	s (14X20+LT)						
Improvement Type	Year Built	Main Flo	or Ft ² Gro	ss Area Ft ²	Basement Finish	Style C	ode & Desc.			
STORAGE BUILDING	0	280)	280	-		-			
Segment	Story	Width	Length	Area	Founda	tion				
BAS	1	14	20	280	POST ON GROUND					
LT	1	15	22	330	POST ON GROUND					
		Improveme	ent 9 Details	(CONTAINER)						
Improvement Type			Main Floor Ft ² Gro		Basement Finish Style Cod		ode & Desc.			
STORAGE BUILDING	STORAGE BUILDING 0		160 160							
Segment	Story	Width	Length	Area	Foundation					
BAS	1	8	20	160	POST ON GROUND					
		Improveme	nt 10 Details	(CONTAINER)						
Improvement Type	Year Built	Main Flo		•	Basement Finish	Style C	ode & Desc.			
STORAGE BUILDING	0	160)	160	-		-			
Segment	Segment Story Width Length Area Foundation									
BAS			20	160	POST ON GROUND					
	Sa	les Reported	to the St. Lo	uis County Aud	litor					
No Sales information		ioo itopoitou	10 1110 011 20	alo county rtae						
		٨٥	sessment Hi	story						
	Class	As		Story	Def	Def				
	Code	Land	Bldg	Total	Land	Bldg	Net Tax			
Year	(Legend)	EMV	EMV	EMV	EMV	EMV	Capacity			
2024 Payable 2025	201	\$34,100	\$198,300	\$232,400	\$0	\$0	-			
2027 1 ayabic 2020	Total	\$34,100	\$198,300	\$232,400	\$0	\$0	2,068.00			
	101	\$16,700	\$164,700	\$181,400	\$0	\$0	-			
2023 Payable 2024	121	\$15,500	\$0	\$15,500	\$0	\$0	-			
ŕ	Total	\$32,200	\$164,700	\$196,900	\$0	\$0	1,630.00			
	101	\$16,500	\$152,300	\$168,800	\$0	\$0	-			
2022 Payable 2023	121	\$14,300	\$0	\$14,300	\$0	\$0	-			
2022 I ayabit 2023	Total	\$30,800	\$152,300	\$183,100	-	\$0	1,490.00			
	101	\$15,800	\$123,900	\$139,700		\$0	-			
2021 Payable 2022	121	\$13,800	\$0	\$11,800	\$0	\$0 \$0	-			
						inu.				





St. Louis County, Minnesota

Date of Report: 12/15/2025 12:33:22 PM

2021 Payable 2022	Total	\$27,600	\$123,900	\$151,500	\$0	\$0	1,169.00		
Tax Detail History									
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Buil MV		Total Taxable MV		
2024	\$1,225.00	\$85.00	\$1,310.00	\$30,096	\$145,08	0 \$	175,176		
2023	\$1,101.00	\$85.00	\$1,186.00	\$28,454	\$131,84	2 \$	160,296		
2022	\$937.00	\$85.00	\$1,022.00	\$24,595	\$101,62	6 \$	126,221		

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.